For professional use only. Please refer to the conditions of use of our catalogue.

4RREu15 192x40R (115V)

DATA SHEET

release. ¢ - Revision 07-2016

Reference

C10-A7 p

Replace B11-A6 p

page 1/2

Y

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
v Hz w A uF m3/h RPM dBA h Min/Max

115 50 24 0,21 5,0 300 1370 50 R -40°C / +70°C

115 60 27 0,24 5,0 360 1620 52 R -40°C / +70°C

115 50 176 CFM -40°F / 158°F

115 60 211 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 B\ ErP 2015 B\

Rotation "CW"

276" 2% [707])
- -

MO.16" x 0.20" [M4 x 5]

244" [ 62]
- > 4% MO.16" x0.20" [4x M4 x5] @228" [@58]
@7.56" [©192]
0.06" [15]
o=
1.06" [27] 4
¥
J o362 (092] P
3.15" [80]
- ==
0.24" (6] <
=i
1.57" [40]
- el
35.43" [ 900 ] 2.36" [ 60]
- > - >
Débit - airflow (CFM)
N . I W 115V 60Hz 5.0uF
0 0D 200
140 — .6 115V 50Hz SuF
120 [
m“ =
% nn g =
a Ul =
a EI'\
w 20 ]
E n 'Q ["s]
[V %)
T_ ED a
= e =
= !
w AN [=
W U n o
e D1 5
= W
D— 2.—- EI'\
f
0 0.0
0 00 200 300 400
Debit - airflow (m?*/h)
Description
.Weight : 1,3 Kg PE
.Ball bearing

.Class F, thermally protected

.IP44 protection depending on installation and position as per EN60034-5
.G2.5 balancing

.Rotor : black paint

.PP UL 94 V-0 plastic impeller

.Motor - UL Recognized component

ECOFIT S.A.
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101
VENDOME Cedex

B/ 330254231454 @ +33(0)254 722273

U1 =Blue
U2 = Black
Z = Brown
PE = Green/Yellow

RC BLOIS B 308 172 147 000 32
www.ecofit.com | info@ecofit.com

JEQUOD WO

2dE |y JUSLINDOP BN

2lqns sue sucgEDy)

ogou Jowd Jnoups sBusya o) 3

“AJUD UDEWICUN I0) BIMII 8



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREu15 192x40R (115V) C10-A7 p @

Fkg ready |
DATA SHEET esiise A\

release. ¢ - Revision 07-2016

Data in accordance 07 T
to ErP directive .
£
Voltage 115 V ey =
= %
Frequency 50 Hz o m &
2 S
Power 0,024 kw() 2 . ?._1
o e
Airflow 150  m3/h() E_ G
Pressure 67 Pa() é B E
Rotation speed 1354 RPM(1) @ - §
(1) at opimal efficiency point i @ 8
, = i
ErP directive (EU 2009/125/EC) not applicable : B 2
Power at optimum energy efficiency point o
‘ 0 e
0 100 200 300 400 %
Accessories Débit - airfflow (m%h 5
B
19216 W 115V 50Hz 5pF ﬁ
19216 E
21181 %
16043 i 2
w
18 E-
= m
— = ]
Measurement setup g 15 = g
| 16043 OUIE OG 128 GALVA @ E %
= = 3
g e | ®
— -
Documents = g + E
Manuel d'utilisation = o =
www.ecofit.com/site/normes w = E
O [ = =}
Operating and recycling manual o _9__ §
www.ecofit.com/anglais/normes 4 a
I
g
- E
H o
0 100 200 300 400 =3
Débit - airflow (m?h) E'-'
3
W 115V 60Hz 5.0uF %.
“ UL2111 (XEWR2,8) g
Ne file E135223
H US  4rsots =
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 1/2

4RREu15 192x40R X39-04p (g

r ready |
DATA SHEET )

release. f - Revision 04-2017

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
v Hz w A uF m3/h RPM dBA h Min/Max
230 50 33 0,15 1,5 305 1390 54 R -40°C / +70°C
230 60 32 0,14 1,5 368 1655 55 R -40°C / +70°C
230 50 179 CFM -40°F / 158°F
230 60 216 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 B\ ErP 2015 B\ g
a
Rotation "CW" %
w
= 276" 2% [707]] &
- e " . m
3_44“[62]} M0.16" x 0.20" [ M4 x 5] @228 [B58] a
@7.56" [@192] 4% MO.16" x 0.207 [4 x M4 x 5] %
a
=
0.06" [15] | ﬁ
@106 [@27)A E
@362 [B92] v g
@
m
@
om
(=
T @5.20" [@132] 315" [80] i
024" [6] = | |1s7140] E
35.43" [900] .| 236 [60] £
- = =3
L=
m
]
g
Débit - airflow (CFM) =
S BN =
D 00 200 W 230V 50Hz 1.50F E
140 06 | 230V 60Hz 1.5uF §
5
— 120 i1 7
o = o
oo n4 = 3
o 100 . 5
2 g0 = g
2 03 & B
= :
— el | = =
= [ S
' a0 s G
@ D1 5
O - &
f
i 00 200 300 400
Debit - airflow (m?*/h)
Description
.Weight : 1,3 Kg L PE N
.Ball bearing
.Class F, thermally protected c
.IP44 protection depending on installation and position as per EN60034-5 |'|

.G2.5 balancing
.Rotor : black paint
.PP UL 94 V-0 plastic impeller U1 = Blue

Motor - UL Recognized component Ug:g::;’;
PE = Green/Yellow
TK
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 1/2

DATA SHEET =

release. ¢ - Revision 07-2016

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
\% Hz w A uF m3/h RPM dBA [ Min/Max
115 50 58 0,7 5,0 740 1385 55 R -40°C / +50°C
115 60 56 0,51 5,0 865 1630 58 R -40°C / +70°C
115 50 435 CFM -40°F / 122°F
115 60 509 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 BN ErP 2015
Rotation "CW"
3.90" 53 [997%]
285 [723] | 7 4xM0.16"x0.20° [4X M4 x5] MO.16" x0.20" [M4 x5]

©8.86" [@225]

0.06"[15]
@1.06" [©27]
3.15"[80]
- =
024" [6]
] W
@6.26" [ @159 @362"[@92] { @228"[@58.01]
-:35 43 [ 900 ]:— ‘2.48' [63 L
: 3.54" [90]
- -
Débit - aiflow (CFM)
i i3 0% - - W 115V 50Hz 5F
u uy Uy Uy UV Uy
200 ne m 115V 60Hz SuF
180 -
i (&
‘© 160 >
@, 06 =
a HC L
2 120 @
w =
@ on lnpa @
?. 1 vl 1 X ;Jl']l
= B0 =,
(w] |
‘w60 &
] no .=
a s L T
e T :
20 W1
0 0.0
0 100 200 300 400 500 600 700 800 500
Deébit - airflow (m®/h)
Description
Weight : 2,0 Kg L PE N
.Ball bearing
.Class F, thermally protected c
.IP44 protection depending on installation and position as per EN60034-5 |'|
.G2.5 balancing ) TINER
-Rotor : black paint i @ |
.PA 6/6 UL 94 V-0 plastic impeller U1 =Blue ' !
.Motor - UL Recognized component Uz = Black ! !
Z = Brown { i
PE = Green/Yellow ' '
L !
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 = 33 (0)2 54 23 14 54 1] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex

=ECOFIT= 4RREu25 225x63R (115V) B11-A7p /@80

JELQUOD UCH

2B |y JUBLINDOP (BN

alqns sue sucgEDIY

opou Jowd Jnoups sBusya o 1o

“AUD UDEISUL I0) BNl B



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

ESTe0lglE]  4RREu25225x63R (115V) B11-A7p (@80

DATA SHEET =

release. ¢ - Revision 07-2016

Data in accordance 200 1 20
to ErP directive 180 L 18
Voltage 115 V e 6 &
m -
Frequency 50 Hz o 12 B
g 5
Power 0,062 kw1 2 12 5
i kS
Airflow 458 m3/h(1) g i
Pressure 80 Pa(® = 8 =
o & g
Rotation speed 1357 RPM(1) 'ﬁ lg = ]
(1) at opimal efficiency point s . E g
ErP directive (EU 2009/125/EC) not applicable : 9 E
Power at optimum energy efficiency point o
: g
" nn e ann e =00 aan ann
Accessories - uu eV JUU SUU U E\.. Al ouv JUU %
Débit - airflow (m#/h 2
=
19216 W 115V 50Hz 54F %
19216 E
=}
N @
!
30 b
Measurement setup e i
| O_Sp155 B E
= A4 T &
m o s
o 2 B g
Documents @ = 2
Manuel d'utilisation ?g 18 G ﬁ
www.ecofit.com/site/normes @ 15 i £
(-1 - ; =
Operating'and recycliqg manual & 12 c E
www.ecofit.com/anglais/normes &2 £ T
@ La & g
=4 = =]
e lg & 2
5
3 o]
=
n =
€ 0]
0 0o 200 300 400 500 500 700 0O 500 4
“ UL2111 (XEWR2,8) Déebit - airflow (m*/h =
N° file E135223 3
c US  srsos B 115V 60Hz 5uF 2
=]
=
=]
=
=

ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 i www.ecofit.com | info@ecofit.com
ENDOME o o | 330254231454 8 +33(0)254722273



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 1/2

4RREuU25 225x63R C25-A2 p @

Fkg ready
DATA SHEET \ b /

release. ¢ - Revision 06-2016

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
v Hz w A uF m3/h RPM dBA h Min/Max
230 50 52 0,27 1,5 755 1385 53 R -40°C / +70°C
230 60 55 0,24 1,5 880 1625 56 R -40°C / +70°C
230 50 444 CFM -40°F / 158°F
230 60 517 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 B\ ErP 2015 B\
Rotation "CW"
390755 1997 M 0.16" x 0.20" [ 4 x 5]
‘2.85" [72.3L 4x MO0.16" x 0.20" [4 x M4 x 5] @228 [D58]
©8.86" [19225]
-1
0.06"[1.5] A
@1.06" [@27T] A
v
©362" [©92] 345" [80]
- =
26267 [0159] e i o s T
3543"[900] | = >
=< = | 354"[90]
- >
Cebit - airflow (CEM)
i 00 200 300 400 500 I 230V50Hz 1.5,F
200 - 0.2 B 230V 60Hz 1.50F
180 -
. ]
m 60 = —
e 06 =
] 140 - ) E
2120 - @
@ nn n th
‘ll:_ ol = D4 :;E
— 80 =
o |
2 B c
w n
oz, 02 'z
= 2 i
R - a
20 0
D 0D 200 300 400 500 E00 700 200 500 .
Debit - airflow (m®/h)
Description
.Weight : 2,0 Kg L PE N
.Ball bearing
.Class F, thermally protected =
.IP44 protection depending on installation and position as per EN60034-5 |'|

.G2.5 balancing

.Rotor : black paint

.PA 6/6 UL 94 V-0 plastic impeller U1 = Blue
.Motor - UL Recognized component U2 = Black

Z = Brown
PE = Green/Yellow
K
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex

JEQUOD WO

2dE |y JUSLINDOP BN

2lqns sue sucgEDy)

ogou Jowd Jnoups sBusya o) 3

“AJUD UDEWICUN I0) BIMII 8



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREuU25 225x63R C25-A2 p @

Fkg ready |
DATA SHEET \ H /

release. ¢ - Revision 06-2016

Data in accordance @
to ErP directive 18
Voltage 230 V s 6 o=
i By
Frequency 50 Hz o, 14
2 :
Power 0,053 kW) = 12 5
w H$=
Airflow 473 m3h() 2 jp WD
(=5 1
! =
Pressure 78 Pa(™ c 2 o
B E %.
Rotation speed 1368 RPM(1) Eﬂ% g ]
(1) at opimal efficiency point i 4 o 8
ErP directive (EU 2009/125/EC) not applicable : 2 2
Power at optimum energy efficiency point o
0 e
0 100 200 300 400 500 600 700 BOD 500 %
Accessories Débit - airflow (m#/h A
E
19208 B 230V 50Hz 1.5pF ﬁ
19208 E
16214 a
2D 3
30 o
o o
| 77 o
Measurement setup wy e =
L 24 ki
| 0_sp155 = o, =
= n & o
e s
5 18 .G E
Documents @ = 2
Manuel d'utilisation = L 5
www.ecofit.com/site/normes i - !
= 12 o =
Operating and recycling manual i 3 @ E
www.ecofit.com/anglais/normes o e 2
M B 2
I < i
[
3 o
g
- E
H o
(G 0 100 200 300 400 500 &00 700 800 500 4
Débit - airflow (m?/h) 3
3
© UL2111 (XEWR2,8) W 230V 60Hz 1.50F =
“ Ne file E135223 E
[H US  4rsezs 2
=

A041865
4RS925CN

ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 f www.ecofit.com | info@ecofit.com
VENDOME Cedex ® 3 (0)2 54 23 14 54 o +33(0)2 54 722273



Reference

D21-A0 p

For professional use only. Please refer to the conditions of use of our catalogue.

4RREuU25 250x56R

page 1/2

DATA SHEET

release. f - Revision 09-2017

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
- n
\% Hz w A WF m3/h RPM dBA oy Min/Max s ':Tf_JOQ ‘
230 50 47 0,22 1,5 865 1415 56 R -40°C / +70°C @ 9 0®
230 60 55 0,24 1,5 1010 1665 61 R -40°C / +70°C
230 50 509 CFM -40°F / 158°F
230 60 594 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 B\ ErP 2015 B\
Rotation "CW"
402735 [1027) 4x MO.16" x 0.20" [4 x M4 x 5]
e Y 285" [723] = = | M0.16" x 0.20" [ M4 x 5]
A ?2.28" [@58]
©6.54" [©166] A
006" [15] | g
@ 1.06" [©27 14 22
: k&
©362" [892) b=
15" [ 80
0.2-1“[6]3"5 (21 ¢
-
35.43" [ 900 ] ¥
o T 220" [56]
- ==
332" [84.3]
- e
Cebit - airflow (CEM)
0 00 200 300 400 500 500 m 230V50Hz 1.50F
250 — 1.0 [ 230V 60Hz 1.5[..F
_ [
o 08 =
@ - =
= En [= 4]
@ 150 =
@ . V7]
;I:'_ D5 I(JI':
= :: [=1
(=] i
a g
R 03 5
D‘: B0 (%]
o
W
D 00 200 300 400 500 600 700 800 500 000 1100 -
Débit - airflow (m®/h)
Description
.Weight : 2,6 Kg L PE N
.Ball bearing
.Class F, thermally protected &
.IP44 protection depending on installation and position as per EN60034-5 I'|
.G2.5 balancing 0 TINER
.Rotor : black paint : é i
.Galvanized steel impeller U1 = Blue i H
U2 = Black ; H
Z = Brown ! i
PE = Green/Yellow ! :
P e

RC BLOIS B 308 172 147 000 32
www.ecofit.com | info@ecofit.com

ECOFIT S.A.
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101

CENDOME Cogan B/ 330254231454 @ +33(0)254 722273

Eﬁmui \

JEQUOD WO

2dE |y JUSLINDOP BN

2lqns sue sucgEDy)

ogou Jowd Jnoups sBusya o) 3

“AJUD UDEWICUN I0) BIMII 8



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREuU25 250x56R D21-A0 p @

Fkg ready |
DATA SHEET \ H /

release. f - Revision 09-2017

Data in accordance 501 00
to ErP directive
Voltage 230 \% — 200 4 - 40 =
el =
Frequency 50 Hz o P
2 2
Power 0,051  kw(1 = 450 L 3
o e
Airflow 530 m3/h(1) E_ L
Pressure 89 Pa(1) é 100 - 20 E
Rotation speed 1354,5 RPM(1) 2 = g
(1) at opimal efficiency point L m - o 8
50 0 %
ErP directive (EU 2009/125/EC) not applicable : 2
Power at optimum energy efficiency point o
0 0 e
0 100 200 300 400 500 600 700 BOD 500 000 1100 %
Accessories Débit - airfflow (m%h 5
E
19208 B 230V 50Hz 1.5pF ﬁ
19208 E
21360 a
250 50 3
16114 @
om
(=
=
— 200 40 D; [ ]
Measurement setup g > g
16114 M07-457 PAVILLON Dia Int.164 Ext.255 @ c %
Galva =R G L 3 2
w E m
o L E]
(= ol =3
Documents é 100 - Lop = E
Manuel d'utilisation w = E
www.ecofit.com/site/normes Py = 2
& s 0 g
Operating and recycling manual 2
www.ecofit.com/anglais/normes o
: . £
0 0 F]
0 100 200 300 400 500 600 700 BOD 500 goo 1100 4
Débit - aiflow (m*/h gr
3
W 230V 60Hz 1.50F %.
=
=]
“ UL2111 (XEWR2,8) =
Ne file E135223
[H US  4rsezs
A041865
4RS925CN
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 1/2

4RREu35 280x80R (115V) B11-A8 p @

Fkg ready
DATA SHEET Substtuted by N24-A8p N b /

release. d - Revision 02-2016

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
i

\% Hz w A WF m3/h RPM dBA oy Min/Max s ':Tf_JOQ ‘
115 50 86 0,87 10,0 1350 1355 60 R -40°C / +50°C @ 9 0®
115 60 94 0,82 10,0 1555 1570 63 R -40°C / +70°C
115 50 794 CFM -40°F / 122°F
115 60 915 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 B\ ErP 2015 B\ g
a
. g
Rotation "CW" 2
4.92"5% [1251]) ]
e = MD.16" x 0.20" [ M4 x 5] 2
323" [ 821) 4% MO.16" x 0.20" [4 x M4 x 5] =
= = 228" [©58] =3
0
©11.06" [ © 281] 5
a
z
w
0.06" [1.5] E
v &
©1.06" [@©27] E
A &
@
o
3‘1{5 [E'0| g
0.24" [6] &
@362" [@92] i
PN 3543 [900] =1
752"
@752 3.15" [80] %
- > =]
439" [1114] e
- - -
-
g
Débit - airflow ({CFM) =
0 200 400 500 800 W 115V50Hz 10.05F 3
300 17 115V 60Hz 10.0uF §
H
[— (] o
Eﬂ 250 . o
@ ng = 3
2 200 c g
i g 3
L —— ne @ F|
= 20 b ';,3 %.
= [=1 =
2 1pp - ! E
W s = =
w n
o 03 5
o 50 @
f
0 200 400 £00 200 000 1200 1400 1600 .
Débit - aiflow (m#h)
Description
.Weight : 2,9 Kg L PE N
.Ball bearing
.Class F, thermally protected c
.IP44 protection depending on installation and position as per EN60034-5 |'|

.G2.5 balancing
.Rotor : black paint
.Galvanized steel impeller U1 = Blue

.Motor - UL Recognized component U2 = Black
Z = Brown

PE = Green/Yellow

TK
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREu35 280x80R (115V) B11-A8 p @

Fkg ready |
DATA SHEET Substtuted by N24-A8p N b /

release. d - Revision 02-2016

Data in accordance 300 7 T30
to ErP directive
250 | 25
Voltage 15 Vv pag o
i By
Frequency 50 Hz o oo ipl
E fal l:1
Power 0,100 kw1 2 ?._1
w H$=
Airflow 832  m3n() E_ 15 W
Pressure 99 Pa(™ c o
g e
: ; i 0 s g
Rotation speed 1251 RPM(1) @ = g
(1) at opimal efficiency point i o 8
5 i
ErP directive (EU 2009/125/EC) not applicable : 2
Power at optimum energy efficiency point o
0 e
0 200 400 BOD 800 000 1200 1400 1600 %
Accessories Débit - airfflow (m%h 5
E
19223 115V 50Hz 10.0uF ﬁ
19223 E
16168 a
300 30 3
- - m
o
om
Measurement setup 250 | 5 o %
e (]
| o_A182 w gt -
fe s | 8
g LA L v g Ell'
o 5 2
Documents @ = 2
Y - =
Manuel d'utilisation = 180~ W/ 5
www.ecofit.com/site/normes i = ]
[iE] =3
=1 =
Operating and recycling manual @ 100 - 0 g E
www.ecofit.com/anglais/normes @ = o
s z 2
e g OO B
U - [
I
g
n n c
0 L o
(G 0 200 400 BOD 300 1000 1200 400 1600 =3
Débit - airflow (m?h) E'-'
3
“ UL2111 (XEWR2,8) W 115V 60Hz 10.0uF g
Ne file E135223 E
H US  srsess -
=
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



Reference

Y06-08 p

Substituted by N24-A9 p

For professional use only. Please refer to the conditions of use of our catalogue.

4RREu35 280x80R

page 1/2

DATA SHEET

release. g - Revision 06-2016

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
v Hz w A uF m3/h RPM dBA h Min/Max
230 50 81 0,38 2,5 1390 1335 61 R -40°C / +60°C
230 60 94 0,41 2,5 1563 1535 65 R -40°C / +70°C
230 50 818 CFM -40°F / 140°F
230 60 919 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 B\ ErP 2015 B\ g
=
Rotation "CW" %
<d-92"ii [ 125'.']>_ MO.16" x0.20" [M4x5] g
c
; EAN . (3.23") [82.1] 4xMO.16" x0.20" [4x M4 x5 @228 [@58 o
@ 11.06" [ @ 281] o - x x [ 1 [ ] =
8
3
a
=
o o
0.06" [1.5] ﬁ
@1.06" [@27] p =
v &
=]
@
o
3.15" [80] -
= > =
0.24"[6] T £
goer iade] 35.43 [900] j g
> - o
3.15" [80] B
- > 3
439" [111.4] =1
- = m
]
g
Cebit - airflow (CEM) =
n 200 ann e ann W 230V 50Hz 2.5pF 'g
100 13 B 230V 60Hz 2.50F E
5
. mER ] b
= £ = E
o 0y = i
£ 200 : g
B g 2
@ - . n 3
5 150 e 2
1 [=
= [=1 g
@ 100 c 2
5 03§
L 5p- 'Eﬁ
W]
D 200 400 600 B0OD 00D 1200 400 600 .
Debit - airflow (m®/h)
Description
.Weight : 2,9 Kg L PE N
.Ball bearing
.Class F, thermally protected =
.IP44 protection depending on installation and position as per EN60034-5 |'|
.G2.5 balancing U vz| [z
.Rotor : black paint E é ]
.Galvanized steel impeller U1 = Blue : i
.Motor - UL Recognized component U2 = Black ! i
Z = Brown ! i
PE = Green/Yellow ! :
P e

ECOFIT S.A.
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101
VENDOME Cedex

B/ 330254231454 @ +33(0)254 722273

RC BLOIS B 308 172 147 000 32
www.ecofit.com | info@ecofit.com



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREu35 280x80R Y06-08 p

DATA S H E ET Substituted by N24-A9 p

release. g - Revision 06-2016

Data in accordance 300 7 T30
to ErP directive
250 | 25
Voltage 230V pag o
i By
Frequency 50 Hz o oo ipl
E fal l:1
Power 0,096 kw(1) 2 ?._1
w H$=
Airflow 802  m3/n(1) E_ 15 W
Pressure 98,5 Pall) c =
2 LB z
Rotation speed 1226 RPM() @ 0= g
(1) at opimal efficiency point i o 8
5 i
ErP directive (EU 2009/125/EC) not applicable : 2
Power at optimum energy efficiency point o
0 e
0 200 400 BOD 800 000 1200 1400 1600 %
Accessories Débit - airfflow (m%h 5
E
19218 W 230V 50Hz 2 5uF ﬁ
19218 E
16168 a
300 30 3
- - m
o
om
Measurement setup 250 - 5 o %
e (]
| 16168 OUIE Di182 De320mm H12 GALVA ‘@ S5 =
ol = =1
™~ 5o an 9 o
g LA L v g Ell'
o = 2
Documents @ = 2
Y - =
Manuel d'utilisation = 140 W/ 5
www.ecofit.com/site/normes i = ]
[iE] =3
=] E
Operating and recycling manual @ 100 - 0 g E
www.ecofit.com/anglais/normes @ = o
s b 2
e g OO B
U - [
I
g
n n c
0 L o
(G 0 200 400 600 800 1000 1200 400 1600 g
Débit - airflow (m?h) E'-'
3
“ UL2111 (XEWR2,8) W 230V 60Hz 2.50F g
Ne file E135223 E
H US  srsess -
=
A041865
4RS935CN
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue.

DATA SHEET

release. ¢ - Revision 09-2014

Reference page 1/2

4RREu45 315x101R (115V) B11-A9

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
\ Hz w A uF m3/h RPM dBA [ Min/Max
115 50 120 1,06 14,0 1815 1340 59 R -40°C / +50°C
115 60 157 1,37 14,0 2030 1500 61 R -40°C / +50°C
115 50 1068 CFM -40°F / 122°F
115 60 1194 CFM -40°F / 122°F

dBA : free blowing

ErP 2013 - ErP 2015 -

Rotation "CW"

@7.95" [©202]

©12.40" [@315]

@362"[@92]

35.43" [ 900 ]
=

152,535 [ 6.00")
378" [96] = = 4

= -

S
L |\

0.08"[1.5]

¥
@1.06" [©27 ]
A

3.15" [80]
024" [B] ==

-

3.98" [101]
- =
5.00" [ 127 ]
=

M0.16" x 0.20" [M4 x 5]

x MO0.16" x 0.20" [4 x M4 x 5] o228 (858

A00 -~

360~

300

2R0 -

200 —

160 —

100 —

Pression - pressure (Pa)

RO —

1] Zh0 kOO

RO

Debit - airflow (CFRD
R0 7EO 1000

1000 1250 1500 1750
Dehit - airflow (m=/h

W 115 50Hz 14uF
g W 115 60Hz 140F

1250

L

— 0.8

—0.4

Pression - pressure (In. W, 3.}

= 0.0
2000 2260

Description

\Weight : 3,9 Kg
.Ball bearing
.Class F, thermally protected

.IP44 protection depending on installation and position as per EN60034-5

.G2.5 balancing

.Rotor : black paint

.PA 6/6 UL 94 V-0 plastic impeller
.Motor - UL Recognized component

ECOFIT S.A.
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101
VENDOME Cedex

B/ 330254231454 @ +33(0)254 722273

U1 =Blue
U2 = Black
Z = Brown
PE = Green/Yellow

RC BLOIS B 308 172 147 000 32
www.ecofit.com | info@ecofit.com

JEQUOD WO

2dE |y JUSLINDOP BN

2lqns sue sucgEDy)

ogou Jowd Jnoups sBusya o) 3

“AJUD UDEWICUN I0) BIMII 8



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREu45 315x101R (115V) B11-A9

DATA SHEET

release. ¢ - Revision 09-2014

Data in accordance 400 7 0
to ErP directive 250 35
Voltage 15 v = ¥
Frequency 50 Hz E’ ;
A
Power 0,141 kw) & i1 .%
i =
Airflow 921 m3h() = L ag W
I
1 1 -
Pressure 172 Pal) = 15 £ z
Rotation speed 1254 RPM(1) i g E]
(1) at opimal efficiency point @ 10 E g
o fir
For service use only in Europe according ErP LE oo E'.
directive EU 2009/125/EC o
o
. 8
u] ZE0 ua] 7RO 1000 1280 1500 1780 000 ZZR0 5
Accessories Debit - airflow (m3/h) 3
B
19224 W 115v 50Hz 14pF %
19224 :E;
16151 a
400 -~ 32 E
o
Log =
Measurement setup . " =
| 16151 Ouie EKHR/DKHR 310 @193 H55 & L L =
— ) [=]
m = ]
= SE f
Documents i = K
Manuel d'utilisation = 18 L:J é
www.ecofit.com/site/normes I - 2
s 12 % -é'
Operating and recycling manual -g £ g
www.ecofit.com/anglais/normes w g -
anglale o = 2
= = =
s "
| -
g
0 H
0 280 ] 7E0 1000 1250 1500 1750 2000 2250 =4
© UL2111 (XEWR2,8) Dehit - airflow (m3/h0 ES
B“ Us Ne file E135223 E
4RS945 115V 60Hz 1407 g
o
=
=
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 1/2

4RREuU45 315x101R L38-A4 p @

r ready |
DATA SHEET )

release. a - Revision 05-2017

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
v Hz w A uF m3/h RPM dBA h Min/Max
230 50 100 0,46 3,5 1770 1295 59 R -40°C / +70°C
230 60 129 0,57 3,5 1900 1395 61 R -40°C / +70°C
230 50 1041 CFM -40°F / 158°F
230 60 1118 CFM -40°F / 158°F
dBA : free blowing NA : not applicable ErP 2013 B\ ErP 2015 B\ g
a
Rotation "CW" %
=-B.00") ( 152.5%0 )= 4% MO0.16" x 0.20" (4 x M4 x 5) !nlu'.
<3.78" (96 )= MO.16" x 0.20" (M4 x 5) =
@1240" (@315) J @228 (D58) E
(=
z
- o
0.06" (15) o
@1.06" (@27 )y =
: &
=]
Bag2 (©92) E
315" (80) [ H
0.24"(6) = é’
35.43" ( 900 ) i
= - =1
@795" (@202) %
<3.98" (101)= a
<-5.00" (127 )= L
-
g
Debit - airflow (CFR) =
Z30W B0Hz 3. 50F 5
a 00 400 f=uln] aao 1000 u S 5
=
IR0 — — 1.4 — - 2300 alH=z 3. 5|.IF S.
L] b
e 300 - 3 o
& z g
= 1.0 o
o 250 = g
=] e =
200 - © 3
o 2 5
o FoEo o
P L o 2
c o S
o 1 [=s
=100 - ;
mn |
i 0.3 .E
a0 i
b
0 Loo &
a 00 400 &o0 aao 1000 1200 1400 1600 1500 2000
Dehit - airflow (m=/h)
Description
.Weight : 3,9 Kg L PE N
.Ball bearing
.Class F, thermally protected c
.IP44 protection depending on installation and position as per EN60034-5 I'|

.G2.5 balancing
.Rotor : black paint
.PA 6/6 UL 94 V-0 plastic impeller U1 = Blue

.Motor - UL Recognized component U2 = Black
Z = Brown

PE = Green/Yellow

TK
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREuU45 315x101R L38-A4 p @

Fkg ready |
DATA SHEET \ H /

release. a - Revision 05-2017

Data in accordance 350 7 T3
to ErP directive
— 30 g
Voltage 230 V o -,
o =
Frequency 50 Hz E’ -~ IR 0
A
Power 0,123 kw() & .%
o — 20 =
Airflow 1070 m2/h() = iy
I
Pressure 128  Pall) ! L
: 5| %
Rotation speed 1180 RPM(") i 10 E 2
(1) at opimal efficiency point @ = 8
[ b %
ErP directive (EU 2009/125/EC) not applicable : -hoo 2
Power at optimum energy efficiency point o
a e
u] 00 400 400 00 1000 1200 1400 1600 1500 2000 %
Accessories Debit - airflow (m3/h) 3
B
19232 W 230 50Hz 3.5F %
19232 E
16151 %
— 25 o
L1}
o
Measurement setup . ) g
| 16151 Ouie EKHR/DKHR 310 @193 H55 o py i
— 0 =1
=]
£ 5| &
Documents i 16 2 R
Manuel d'utilisation = L:J é
www.ecofit.com/site/normes I 12 2
= = =3
Operating and recycling manual -g E E
www.ecofit.com/anglais/normes o g ] -
& 2| g
o IS "
I
g
0 H
(G 0 200 400 a00 ] 4000 1200 1400 1a00 1&00 2000 =4
Dehit - airflow (m3/h) ES
3
“ UL2111 (XEWR2,8) W 250 e0Hz 3. 5pF &
Ne file E135223 E
C US  4rsoss -
=
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 1/2

4RREuU45 315x101R Y06-09

DATA SHEET

release. g - Revision 04-2017

Voltage Frequency Input Input Capacitor Airflow Rotation Acoustic  Direction  Admissible
Power Current speed level rotation ~ Temperature
v Hz w A uF m3/h RPM dBA h Min/Max
230 50 128 0,57 4,0 1905 1340 61 R -40°C / +60°C
230 60 163 0,71 4,0 2150 1525 64 R -40°C / +70°C
230 50 1121 CFM -40°F / 140°F
230 60 1265 CFM -40°F / 158°F
dBA : free blowing ErP 2013 - ErP 2015 - g
=
Rotation "CW" %
152,575 [ 6.00"]] MO.16" x 0.20" [M 4 x 5] o
ﬁ:_—‘\% 3.78'[96] = — 7 4xM0.16"x0.20" [4x M4 x5] ©2.28" [©58] g
@ 12.40" [@315] | 2
g
= Z
F
b E
0.06"[15] ﬁ
Y 2
@1.06" [@27]
a %
@362 [©92] r_ m
3.15" [80] E
0.24"[6] = k=S
35.43" [900] [+1
= - S
@796 [@202] =)
_3.08" [101] ] i
5.00" [ 127] ]
- > 2
g
Debit - airflow {CFM) =
. E]
a Z50 un] 7RO 1000 1250 W 230V E0Hz 4.00F 5
=
400 — . W 250V e0Hz 4.0pF g
) B
o 380 — ) B
a £ g
=300 — i o
il [ T
5 e g
250 — 5
i n 7
o = F
5 200 - F0.E fr
| o E
- 150 — [wl 2
g 1 =
m
1 | , =
2 a0 0.4 5
e um
[l ]
50 a
&
0 L~ 0.0
a 250 500 Fe0 1000 1250 1500 1750 2000 2250
Debit - airflow {m=/h)

Description
\Weight : 3,9 Kg

L PE N
.Ball bearing
.Class F, thermally protected =
.IP44 protection depending on installation and position as per EN60034-5 |'|

.G2.5 balancing
.Rotor : black paint
.PA 6/6 UL 94 V-0 plastic impeller U1 =EBlue

.Motor - UL Recognized component U2 = Black
Z = Brown

PE = Green/Yellow

TK
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



For professional use only. Please refer to the conditions of use of our catalogue. Reference page 2/2

4RREuU45 315x101R Y06-09

DATA SHEET

release. g - Revision 04-2017

Data in accordance 400 7 40
to ErP directive 250 35
Voltage 230V - #F
Frequency 50 Hz E’ ;
e
Power 0,151 kw) 7 - I
2 =
Airflow 1060 m3/h() £ Lsg 1D
I
1 ! a
Pressure 163 Pall) = 15 £ z
Rotation speed 1267 RPM(1) i g E]
(1) at opimal efficiency point @ 10 E g
o [
For service use only in Europe according ErP LE oo E'.
directive EU 2009/125/EC [
a e
u] ZE0 ua] 7RO 1000 1280 1500 1780 000 ZZR0 %
Accessories Débit - airflaw (m3/h) 3
=
19220 W Z30% 50Hz 4.0pF %
19220 E
16151 %
— 40 -
o
o
Measurement setup _ | E
| 16151 Ouie EKHR/DKHR 310 @193 H55 o La o =
— ) [=]
m = ]
= S f
Documents i = %
Manuel d'utilisation a - L:_I z
www.ecofit.com/site/normes i - 2
p 15 % -é'
Operating and recycling manual -g = a
www.ecofit.com/anglais/normes o 10 L 3
a £ 2
o &
5 7
g
o ]
0 280 ] 7E0 1000 1250 1500 1750 2000 2250 =4
© UL2111 (XEWR2,8) Dehit - airflow (m3/h0 ES
B“ Us N° file E135223 E
4RS945 W 230V 60Hz 4,00F B
5
A041865 S
4RS945CN =
ECOFIT S.A. RC BLOIS B 308 172 147 000 32
Z.1. SUD | Rue Marc Seguin | BP60008 | F-41101 2 33 (0)2 54 23 14 54 ] +33(0)2 54 72 22 73 www.ecofit.com | info@ecofit.com

VENDOME Cedex



	4_192
	4_225
	4_250
	4_280
	4_315

